§ 2.10. Bor‘nholmstraﬁ_kk,en
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Nettotal ............. e ey 34.447.000 1.523.000 +8.660.000
Driftsudgifter .................. . 194968000 1373.000  +4.419.000
Indtegter ..... e et e, 131.510.000 - 4.509.000
Anlzgsudgifter ........................ 1.800.000 150.000 150.000
Ejendomserhvervelser m.v. ............... 65.000 - =
Kapitalindtegter ..... e, S 30.876.0060 - =+ 118.000
10.01. Driftsbudget - :

Driftsudgifter .................... -194.968.000 1.373.000 +4.419.000

Indtegter ....................... 131.510.000 - 4.509.000
10.20. Anlzgs- og udlinsbevillinger

Anlzgsudgifter

70.01 Fornyelser og anskaffelser . .. 1.800.000 150.000 150.000

Kapitalindtsegter

30.876.000 - +118.000

81.01 Afskrivning pa anleg ...... .



